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I Analysis of end of X mwn — dispute as to proper read of nvoTIn (named after Herod) or n1o17n (from Rhodes?)
II  Analysis of "2 mwn — exemption of Xnv 1y
a  pny . ax (v. 1) implies 100 9 exclusively
i Challenges: vv. 2-5 — doesn’t 1ax refer to both 191 ®nY and 913 - to locusts?
1 defense: in each case, Max refers exclusively to 1110 91y, 913 to XY 9y and locusts
ii  challenge: v. 6 refers to RV MY as Nax
1 answer: they may be called onw »max, but not 1ax
iii  challenge: v. 7 implies that there is a non-1nv bird called max
1 cannot be: nav (already prohibited), cannot be y11¥n nvINWY (already violation of v. 8)
2 answer: it is NV: the y1rn Max that is slaughtered — to generate nwY Mo*R along with n™
(a) question: why not interpret it as 1919, and allow for n”» nwy?
(b) answer: context (YN TYn 117) — reference is to MOVINY
iv  challenge: v. 9 implies that there are mxrnv o8y, those that aren’t 192 nn (which we may not eat)
1 defense: nvn implies that it must have all limbs intact
2 challenge: end of phrase — mmnv —implies MRNY D*NaY
(a) defense: it rather implies ma»v DNnax
(b) challenge: that is implied by nvn
(i) note: that is only valid if we hold n'n na»v; if n'n NPR NOMYV, MNNY is extra
(if) furthermore: we already know that na»v is invalid from »"127n, who compares:
1. 7990 Pwop: inside (Y110 DWR and other mXvn) ::outside (Y1¥N Max and NHNVNRN VYY)
rather (»7277): excludes nnTan Py M4y, not for sending (N>w — not N>pnY) but for nVNY
or (¥37): not to associate another (for another y1xn) - for nvNY
or (97): to exclude birds bought with 1"y money, per v. 10 that equates proceeds with 1"y itself — for normnw
6  or (8r37): to exclude a bird that killed a person before 7”3, not for m%w (per v. 11), rather for normnw
III analysis of next clause: whether mother or eggs/chicks are xnv — exempt
a  we understand: if the mother is NNV, isn’t reckoned as Max
b but: if chicks are n'8nv, why the exemption?
i answer: per 2", who interprets 79 npn as it must be edible (=190 DR is 2n; MYV D’MIAR — exempt)
ii  challenge: why not compare D'm1aR to DR = 1910 DX doesn’t get sent
1 answer: then no need for Max to exclude nknv DX
2 challenge: N0 PMI9OR DR — must shoo away
(a) answer: read —pmI19R whose mother is n919— must shoo away
¢ Nwwi1’7s question: if he stuck his hand in to the nest, and cut less than 50% of one 12’0 (of the one chick there) -
i lemmal: at this point, if he did nothing more, it would be a 19710 = no mb>w
ii  lemma2: since he could finish it on his own, liable ... p>'n
d  /p7 7s question(s): does a fabric between the mother and the eggs, or her wings, or sterile eggs or two rows of eggs or
a male atop the eggs and the mother atop the male — are these n¥>xn? ...yp'n
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e  N7r’7s question: what if one MV 9 is sitting atop another type of 1110 9’s eggs?
i »ax: from our mwn, which exempts when one of them is 8nv = in this case, 27n
1 rejection: perhaps that is only referring to a partridge (which will sit on other’s eggs — see IV)
IV Analysis of last clause of mwn — dispute n'non/x" about the male partridge
a  source (for N”7): AR "1 —vv. 13-14
b 7571 dispute is only about male patridge; they agree that female partridge is 2n
i challenge: this is obvious, as only 79t RMp is mentioned
ii  defense: X710 that Dnan exempt even female partridge; male was taught to show 8"’s extreme position — 5"np
¢ 2877 dispute is only about male partridge, but any other male — all agree is exempt
i challenge: this is obvious, as only 79t RMp is mentioned
ii  defense: R"10 that 8" deems 27n even other males, X1p was taught to show n'nan’s extreme position — 5"np
1  note: supporting Xn»11, where all agree that any other male is 71109
V1 mwn: conditions of m%w 2vn
a  if: she was fluttering her wings; if the wings touch the nest- mbwa 1»n; if not — 1109
i ap7az nean (v. 1) excludes naown (hovering) — even if her wings are touching the nest
ii  explanation: since it doesn’t state nawy - hovering is excluded
1 a7 if she was sitting atop a fork of branches, we see — if the branch would be removed and she would fall on
the nest — 2»n; if not — 708
(a) challenge: Xn»1 — if she was sitting among them (chicks/eggs) — 1109; atop them — 27n and if she was hov-
ering over the nest, even if her wings were touching the nest - 7109
(i) assumption: between ::atop; just as between implies touching, so too, atop is touching = perched 1108
(if) rejection: between::atop; just as between is without touching, so too, atop is w/o touching
1. proposed support: if perched above is exempt, why mention “hovering” even if touching is 71108 -
mention that perched above is 1109 and we would know, via v’p, that hovering is 108
a. rejection: “hovering” needed to be taught — even if touching the nest, 1102
b.  challenge: our mwn rules that hovering is liable
i.  resolution (7707 ’7): exemption in Rn»71 is if she is touching from the side (not above)
(b) note: this entire line is alternatively read as an inversion: read Xn»91 as comparing sitting among::atop,
meaning not touching, supporting 12’® »1211 (perched); invert to read among::atop — touching,
(i) challenge: from 198 1211 (could have been mentioned, then namyn is obvious via vp)
(ii) answer: nagwn needed to be taught — even if touching, exempt
b  if: there is even one egg or chick — must send, per "p” — any sort/size nest
¢ but if: the chicks were already flying or the eggs were sterile — exempt
i per:v.1, comparing D'%2::0"MY9R
1 just as: »mar will live, so too the eggs must be viable — excluding non-fertilized eggs
2 and just as: the eggs require the mother, so too the chicks must (still) require their mother — excluding yn>1an
ii  challenge (student to #37): perhaps "jp” should extend to even sterile eggs or flying chicks and ommar/ox»a should
be used to require at least two “residents” of the nest (opposite of our mwn’s hermeneutic)
1 answer: then there would be no need to repeat o’¥*an % W onMarn YY; could have just stated D%y Nxa ormM

www.dafyomiyicc.org P © Yitzchak Etshalom 2011




